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Part-1I (Botany)

(S S 2 Tfegw Heaie)

1. Name the edible part of an apple. 1

IS GO AT IS fo7alt |

2. Why grafting is not possible in monocot plants ? 1

GGl Bfgne (Sl FoTs e 2% 5 2

3. Name the micro-organism that converts milk to curd. 1
NITE W 3 TR 41 TGS RGE I o1 |
4. What is the function of DNA ligase ? 1

T @ @ =Eres e = 2

5. What is missing link ? Describe briefly with an example. 1+1=2
YRR THPR N & 2 @b Buizdcei@ by Ik |
Or / &3<1
Define Recapitulation theory with examples. 2
TRz 2aRfe TeavE ket il |

6. What is transgenic plant ? Mention two advantages and one example of

transgenic plant. 1+1=2
IHBEF B W F 2 IHVRS Sfewa 707 AR O by Swigel 2l |
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Or / 924

Write on the importance of biopiracy. 2
(eRgloREeR wwed A ferd |
7.  Differentiate allelopathy and antibiosis. 1+1=2
Rl o GFeaRbes e 4 |
Or / G-l

What is age pyramid ? Draw the expanding age pyramid and label its
parts. 1+1=2

T Pifie Wi & ¢ wd BHaifics oo wifs oiv wixi@R bize st

8. Write short note on the following : (any one) 2

53 (Il ferell . (Rigpieat «br<)
(i) Gene gun

fom 1
(ii) Tools of genetic engineering
fet sfergem wifest
(iii) Gene cloning
fam e
9.  What are the conditions of biopatent ? 2

IRATEH 5© E [ [ 2
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10.

11.

Or / q41

Write about the function and principle of ELISA technique. 2

ELISA lfem 1Y S a9 [Raca i

Write scientific name and utility of the following plants : (any two)
1+1=2
woTe Al S [@elf a1 S e[ ol . (R 7619)

(a) Teak
ny

(b) Indian ginseng
NERR

(¢) Chinchona
ol

(d) Sissoo

=

Write briefly the chemical origin of life on the earth. 3

sffedTe GRR IARS Seoifes Raca v3jes &4l |
Or / q2d1

“Survival of the fittest”, explain the statement with the help of Darwin’s

theory. 3

“(RISTOR TG, T TeAME AZTS €3 TG 1y 41 |
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12.

13.

14.

What is tissue culture ? Write the advantages of tissue culture.
1+2=3

TR & 2 Fene Rl g vt |
Or / a9«

What is meant by somatic hybridization ? Give an account on necessary

steps of the method with an example. 1+2=3

I e A & @R 2 b SrizgepTz ¥2 dfTmre SRR R W9 TS I
|

Define fermentation and describe briefly how alcohol is produced in this

process. 1+2=3

e 2fE17 kel fral O @3 afoe T (FET TS T4 W O[5 3¢ aw |
Or / a9«

What are biopesticides ? Write briefly on biopesticides with examples.
1+2=3

(SR FIoF 1 2 THIZIPTR (o e [aca ferall |

What is double fertilization ? Describe the process with diagrams from the

stage of megaspore formation to zygote formation. 1+4=5

fa-ficase 5 2 Pav Fiwe 190 T 71 (@S (@R e Aot 3¢ 1 |
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Or / 924

Why meiosis is essential at the time of sporogenesis in angiosperms ?

Explain the process of development of male gametophyte in angiosperms

with suitable diagrams. 1+4=5
YUING] TG (e RS ZEIN [oes S [ ¢ wadial Tigre
FET R 2w Toge ez il 41 |

15. What is genetic engineering ? Describe the major steps of gene cloning

technology. 1+4=5
fomin wfotgd & ¢ fom e afte dae womgea 9! |
Or / 2

Write an account of biotechnological applications in medicine. 5

Plow Reme FiRe Grikers et 79cs aft 3¢ )
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Part-II (Zoology)
(eSS =i ¢ aiififaesi=)

1.  Fill in the blanks: (any two) 1x2=2

Al S o7 1 ¢ (R g5Y)

(1) Anterior part of sperm is called

WY (PRE ST el (PR =

(b)  Archaeopteryx is a connecting link between reptiles and

E 2GRS 25 AP S

3 WA SR

(c) Genetic constitution of an organism is called

TH ¢G5 GRA feme A

(d) Cancer causing viruses are known as

TG (Sl B I SR RS Jfe (PRI =

2. Answer any two : 1x2=2

e 7519 Tet fordl 2

(1) What is interspecific hybridization ?

S eEife WFIE F 2
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(b) What are the restriction enzymes ?

‘([ e TR 2

(c) What is the first infective stage of malarial parasite in man ?

RS (RS (NERIA ARG AT FL =ies] 6 2

(d) What is ex-situ conservation ?

e ATH & 2

3.  Answer any four : 2x4=8

Ricsrizen bIfeb1 Tex fordll ¢

(1) What are the significance of crossing over ?

sfiqesifes wwg & 2

(b)  Write briefly on haemophilia.
frfefemia R syt B

(0 What do you mean by adaptive radiation ?

S| eARe It [ e 2

(d) Write the various components of immune system.

SPRGY ©Td fifed ot Tz fordl |
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(e)  Write the various causes of water pollution.

AT efe Koy e Tz o |

(/) What are the factors of population growth ?

oM e diewEE & 2

4. Write differences between : (any two) 2x2=4

iz qo1T e ferai ¢

(1) Parturition and lactation

PR Il el

(b) Down's syndrome and Klinefelter's syndrome.

TS Hws O FrepiRa o

(c) Vaccination and immunisation

RO ST SRR

(d) Convergent evolution and divergent evolution

SSAN FNRPH S AT T |

5. Draw a neat labelled diagram of a human sperm. 2+1=3

@b R wTFgT oIRFR bz by i |
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Or / 92

Diagrammatically express the Watson-Crick's semiconservative models of

DNA replication. 3

SRGE W {5 wiiffe DNA 3 917 wcafirs afegiomaes bar Fivl e 1 |

6. What are sexually transmitted diseases ? Write its various types of

preventive measures. 1+2=3
forest AAeifre (ol A (TS DT (@ 2 @B (@I 2o IEIE S o2
Or / &?<1

Write the various methods of cancer detection and diagnosis. 3

FHoEMA el i Drewael oo ol |

7.  Describe about the Pedigree analysis. 3

N 2foqe Resael Amfocs! o |
Or / &?<1
Describe about the 'greenhouse' effect. 3

CTEEHZ. &SR T=A(F 9! 31 |

8. Describe the Mendel's laws of inheritance. 5

(TSR A#191fS ATRIT G T2 9061 1 |
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Or / 92

'DNA is a genetic material', explain the statement with the help of Alfred
Hershey and Martha Chase experiment. 5

‘T, @ @ Ze1 ot w1y, St Senss g o Wl o5a A TRTe
i 9 |

9.  Describe the process of the flow of energy in different trophic level of an

ecosystem. 5

#3f%fC o7 B &fen (Nivs e “if& o[z e @ s

Or / 92

What is ecological pyramid ? Explain different types of ecological pyramid
with diagram. 2+3=5

Al RIS & ¢ R[fen w@ee T afenss Faifies [aw oas e
<9
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